



**Stolle Machinery Company LLC**  
 6949 S. Potomac Street  
 Centennial CO 80112 USA  
 Phone: 303-708-9044

**Commercial Invoice**  
**For Customs Clearance**

**Invoice Number:** 514356  
**Date:** 2/4/2026

**Bill To** 1026401  
 ROYAL CAN MAKING CO.  
 NAHYAT BAZIAN,  
 KANI SHAYTAN  
 - SULAYMANYIAH KIRKUK HWY  
 IQ - IRAQ

**Consignee** 1026401  
 ROYAL CAN MAKING CO.  
 NAHYAT BAZIAN,  
 KANI SHAYTAN  
 - SULAYMANYIAH KIRKUK HWY  
 IQ - IRAQ

**SHIPPING METHOD** SEE BELOW  
**NUMBER PCS / WEIGHT** 1.00 / 640.47 kg  
**B/L** 1 crate 66x48x39

**INCOTERMS** Exwk Centennial CO Incoterms 2010  
**TERMS** 90 Days Net  
**PRO NO** 1412 lb  
**ITN**

Order No. Line No. Rel No.	PO Number Part Number Part Number Description	HS Classification Country of Origin	Qty. Delivered Unit of Measure Notes	Unit Value USD	Total Value USD	Net Weight Each	Net Weight Total
C294935-2 4 1	2025000433 222177178 SUB-ASSY, SS HOSE, 5FT	4009320050 MEXICO	2.00 EA	746.36	1,492.72	0.782	1.56 kg
<b>Total HS Code - DOMESTIC</b>		<b>4009320050</b>					
<b>Total HS Code - FOREIGN</b>		<b>4009320050</b>	<b>2.00</b>		<b>1,492.72</b>		<b>1.56 kg</b>
<b>Total HS Code - TOTAL</b>		<b>4009320050</b>	<b>2.00</b>		<b>1,492.72</b>		<b>1.56 kg</b>
C294935-2 3 1	2025000433 222037229 SUB-ASSY, SUPPLY HOSE	4009420050 UNITED STATES	2.00 EA	247.50	495.00	3.470	6.94 kg
<b>Total HS Code - DOMESTIC</b>		<b>4009420050</b>	<b>2.00</b>		<b>495.00</b>		<b>6.94 kg</b>
<b>Total HS Code - FOREIGN</b>		<b>4009420050</b>					
<b>Total HS Code - TOTAL</b>		<b>4009420050</b>	<b>2.00</b>		<b>495.00</b>		<b>6.94 kg</b>
C299002 2 1	2025000804 QT450-964-00 BELT, TIMING	4010360000 UNITED STATES	10.00 EA	185.64	1,856.43	0.200	2.00 kg
<b>Total HS Code - DOMESTIC</b>		<b>4010360000</b>	<b>10.00</b>		<b>1,856.43</b>		<b>2.00 kg</b>
<b>Total HS Code - FOREIGN</b>		<b>4010360000</b>					
<b>Total HS Code - TOTAL</b>		<b>4010360000</b>	<b>10.00</b>		<b>1,856.43</b>		<b>2.00 kg</b>



**Stolle Machinery Company LLC**  
 6949 S. Potomac Street  
 Centennial CO 80112 USA  
 Phone: 303-708-9044

**Commercial Invoice**  
**For Customs Clearance**

**Invoice Number:** 514356  
**Date:** 2/4/2026

C297582	2025000687	4010390000	2.00	229.64	459.29	2.177	4.35 kg
14	222026196	UNITED STATES	EA				
1	BELT, TIMING 1260XH200						

<b>Total HS Code - DOMESTIC</b>	<b>4010390000</b>	<b>2.00</b>		<b>459.29</b>			<b>4.35 kg</b>
<b>Total HS Code - FOREIGN</b>	<b>4010390000</b>						
<b>Total HS Code - TOTAL</b>	<b>4010390000</b>	<b>2.00</b>		<b>459.29</b>			<b>4.35 kg</b>

C300986	2025000936	4016930000	12.00	996.93	11,963.16	2.296	27.55 kg
2	095026	UNITED STATES	EA				
1	SPRING, DONUT (YELLOW) - PRIDE						

<b>Total HS Code - DOMESTIC</b>	<b>4016930000</b>	<b>12.00</b>		<b>11,963.16</b>			<b>27.55 kg</b>
<b>Total HS Code - FOREIGN</b>	<b>4016930000</b>						
<b>Total HS Code - TOTAL</b>	<b>4016930000</b>	<b>12.00</b>		<b>11,963.16</b>			<b>27.55 kg</b>

C294935-2	2025000433	7307221000	2.00	120.60	241.20	0.280	0.56 kg
9	222104586	CHINA	EA				
1	FITTING, 1-1/4 MNPT X 3/4 FNPT SS						

C294935-2	2025000433	7307221000	2.00	30.09	60.17	0.122	0.24 kg
8	222022293	CHINA	EA				
1	ADAPTER, 3/4" MPT X 1-1/16-12 MJIC, SS						

C294935-2	2025000433	7307221000	2.00	30.87	61.74	0.136	0.27 kg
6	222025013	CHINA	EA				
1	FITTING, AQ 259-2081-16-12						

<b>Total HS Code - DOMESTIC</b>	<b>7307221000</b>						
<b>Total HS Code - FOREIGN</b>	<b>7307221000</b>	<b>6.00</b>		<b>363.11</b>			<b>1.08 kg</b>
<b>Total HS Code - TOTAL</b>	<b>7307221000</b>	<b>6.00</b>		<b>363.11</b>			<b>1.08 kg</b>

C294935-2	2025000433	7307290000	4.00	25.20	100.80	0.294	1.179 kg
7	222334636	CHINA	EA				
1	FITTING, PIPE, REDUCER, BUSHING, 1-1/2 X 3/4, SS						

<b>Total HS Code - DOMESTIC</b>	<b>7307290000</b>						
<b>Total HS Code - FOREIGN</b>	<b>7307290000</b>	<b>4.00</b>		<b>100.80</b>			<b>1.179 kg</b>
<b>Total HS Code - TOTAL</b>	<b>7307290000</b>	<b>4.00</b>		<b>100.80</b>			<b>1.179 kg</b>



**Stolle Machinery Company LLC**  
 6949 S. Potomac Street  
 Centennial CO 80112 USA  
 Phone: 303-708-9044

**Commercial Invoice**  
**For Customs Clearance**

**Invoice Number:** 514356  
**Date:** 2/4/2026

C294935-2	2025000433	7307929000	8.00	55.05	440.42	0.181	1.45 kg
5	222022192	CHINA	EA				
1	ELBOW, AQ 259-2024-12-12						

<b>Total HS Code - DOMESTIC</b>	<b>7307929000</b>						
<b>Total HS Code - FOREIGN</b>	<b>7307929000</b>	<b>8.00</b>		<b>440.42</b>			<b>1.45 kg</b>
<b>Total HS Code - TOTAL</b>	<b>7307929000</b>	<b>8.00</b>		<b>440.42</b>			<b>1.45 kg</b>

C300986	2025000936	7318159000	24.00	129.84	3,116.23	0.952	22.86 kg
5	SN701076	CHINA	EA				
1	STUD, TIE DOWN						

<b>Total HS Code - DOMESTIC</b>	<b>7318159000</b>						
<b>Total HS Code - FOREIGN</b>	<b>7318159000</b>	<b>24.00</b>		<b>3,116.23</b>			<b>22.86 kg</b>
<b>Total HS Code - TOTAL</b>	<b>7318159000</b>	<b>24.00</b>		<b>3,116.23</b>			<b>22.86 kg</b>

C300986	2025000936	7318160000	40.00	1.08	43.20	0.040	1.60 kg
6	013970	CHINA	EA				
1	NUT, FULL HEAVY HEX 3/4-10 GR 2H						

C300579	2025000916	7318160000	20.00	9.38	187.56	0.027	0.54 kg
2	QT450-807-00	UNITED STATES	EA				
1	BEARING NUT NT-05						

<b>Total HS Code - DOMESTIC</b>	<b>7318160000</b>	<b>20.00</b>		<b>187.56</b>			<b>0.54 kg</b>
<b>Total HS Code - FOREIGN</b>	<b>7318160000</b>	<b>40.00</b>		<b>43.20</b>			<b>1.60 kg</b>
<b>Total HS Code - TOTAL</b>	<b>7318160000</b>	<b>60.00</b>		<b>230.76</b>			<b>2.14 kg</b>

C300579	2025000916	7318220000	20.00	30.76	615.24	0.045	0.91 kg
42	QT450-234-01	UNITED STATES	EA				
1	OUTER SPACER, CAN PAD HOUSING BEARING						

C300579	2025000916	7318220000	20.00	30.76	615.24	0.045	0.91 kg
41	QT450-235-01	UNITED STATES	EA				
1	INNER SPACER, CAN PAD HOUSING BEARING						

C300579	2025000916	7318220000	10.00	19.85	198.45	0.009	0.09 kg
27	QT450-871-00	UNITED STATES	EA				
1	SNAP RING, EXTERNAL .750						

<b>Total HS Code - DOMESTIC</b>	<b>7318220000</b>	<b>50.00</b>		<b>1,428.93</b>			<b>1.91 kg</b>
<b>Total HS Code - FOREIGN</b>	<b>7318220000</b>						
<b>Total HS Code - TOTAL</b>	<b>7318220000</b>	<b>50.00</b>		<b>1,428.93</b>			<b>1.91 kg</b>

<b>Total HS Code - TOTAL</b>	<b>7318220000</b>	<b>50.00</b>		<b>1,428.93</b>			<b>1.91 kg</b>
------------------------------	-------------------	--------------	--	-----------------	--	--	----------------



**Stolle Machinery Company LLC**  
 6949 S. Potomac Street  
 Centennial CO 80112 USA  
 Phone: 303-708-9044

**Commercial Invoice**  
**For Customs Clearance**

**Invoice Number:** 514356  
**Date:** 2/4/2026

C298840	2025000793	7326908695	3.00	10.74	32.21	0.020	0.06 kg
12	222094290	UNITED STATES	EA				
1	BALL PLUNGER, HEX DRIVE						

<b>Total HS Code - DOMESTIC</b>	<b>7326908695</b>	<b>3.00</b>	<b>32.21</b>	<b>0.06 kg</b>
<b>Total HS Code - FOREIGN</b>	<b>7326908695</b>			
<b>Total HS Code - TOTAL</b>	<b>7326908695</b>	<b>3.00</b>	<b>32.21</b>	<b>0.06 kg</b>

C299206	2025000799	7412200000	10.00	9.66	96.57	0.005	0.05 kg
3	730012	UNITED STATES	EA				
1	FITTING, AQ 38-190627-2-4						

<b>Total HS Code - DOMESTIC</b>	<b>7412200000</b>	<b>10.00</b>	<b>96.57</b>	<b>0.05 kg</b>
<b>Total HS Code - FOREIGN</b>	<b>7412200000</b>			
<b>Total HS Code - TOTAL</b>	<b>7412200000</b>	<b>10.00</b>	<b>96.57</b>	<b>0.05 kg</b>

C298360	2025000749	8204110060	5.00	101.94	509.72	0.159	0.79 kg
7	SST-1394-00	UNITED STATES	EA				
1	WRENCH, CAN PAD						

<b>Total HS Code - DOMESTIC</b>	<b>8204110060</b>	<b>5.00</b>	<b>509.72</b>	<b>0.79 kg</b>
<b>Total HS Code - FOREIGN</b>	<b>8204110060</b>			
<b>Total HS Code - TOTAL</b>	<b>8204110060</b>	<b>5.00</b>	<b>509.72</b>	<b>0.79 kg</b>

C298366	2025000759	8424909080	4.00	137.36	549.43	0.227	0.91 kg
1	700006260	UNITED STATES	EA				
1	CYLINDER, 3/4 x 1/2, SPRG EXTD						

<b>Total HS Code - DOMESTIC</b>	<b>8424909080</b>	<b>4.00</b>	<b>549.43</b>	<b>0.91 kg</b>
<b>Total HS Code - FOREIGN</b>	<b>8424909080</b>			
<b>Total HS Code - TOTAL</b>	<b>8424909080</b>	<b>4.00</b>	<b>549.43</b>	<b>0.91 kg</b>

C299685	2025000855	8443913000	4.00	464.13	1,856.52	0.068	0.27 kg
2	308198	UNITED STATES	EA				
1	GUIDE, OPEN END 202DIA 36M						

C297582	2025000687	8443913000	1.00	6,325.83	6,325.83		0.00 kg
33	222278804	UNITED STATES	EA				
1	ASSEMBLY, CHAIN GUIDE ADJUSTABLE 36M						

C297290	2025000666	8443913000	2.00	99.80	199.60	0.045	0.09 kg
2	255225	CZECH REPUBLIC	EA				



**Stolle Machinery Company LLC**  
 6949 S. Potomac Street  
 Centennial CO 80112 USA  
 Phone: 303-708-9044

**Commercial Invoice**  
**For Customs Clearance**

**Invoice Number:** 514356  
**Date:** 2/4/2026

1	PIVOT, RESET CYLINDER							
C296816	2025000629	8443913000	8.00	3,547.30	28,378.37	12.270	98.16 kg	
1	708088	UNITED STATES	EA					
1	PLATE CYLINDER, B-MAGNETIC, 500ml							
C294935-2	2025000433	8443913000	2.00	4,934.70	9,869.40	23.587	47.17 kg	
1	222199612	UNITED STATES	EA					
1	ASSEMBLY, DAY TANK, NO MIXER							
<b>Total HS Code - DOMESTIC</b>		<b>8443913000</b>	<b>15.00</b>		<b>46,430.12</b>		<b>145.60 kg</b>	
<b>Total HS Code - FOREIGN</b>		<b>8443913000</b>	<b>2.00</b>		<b>199.60</b>		<b>0.09 kg</b>	
<b>Total HS Code - TOTAL</b>		<b>8443913000</b>	<b>17.00</b>		<b>46,629.72</b>		<b>145.69 kg</b>	
C301384	2026000026	8466940002	1.00	1,636.51	1,636.51	2.835	2.83 kg	
1	721141	UNITED STATES	EA					
1	SUB-ASSY, FEED WHEEL BEARING							
C298360	2025000749	8466940002	5.00	46.80	234.00	0.136	0.68 kg	
10	SST-1392-00	UNITED STATES	EA					
1	DEGREE WHEEL, 360							
C298360	2025000749	8466940002	2.00	1,053.77	2,107.55	3.810	7.62 kg	
1	QT450-1299-00	UNITED STATES	EA					
1	PLATE, INSPECTION, TRIM HEAD							
<b>Total HS Code - DOMESTIC</b>		<b>8466940002</b>	<b>8.00</b>		<b>3,978.05</b>		<b>11.14 kg</b>	
<b>Total HS Code - FOREIGN</b>		<b>8466940002</b>						
<b>Total HS Code - TOTAL</b>		<b>8466940002</b>	<b>8.00</b>		<b>3,978.05</b>		<b>11.14 kg</b>	
C300459	2025000879	8482200030	2.00	3,113.69	6,227.37	19.028	38.06 kg	
9	095069	INDIA	EA					
1	BEARING, FLYWHEEL - TIMKEN B6 & B7							
<b>Total HS Code - DOMESTIC</b>		<b>8482200030</b>						
<b>Total HS Code - FOREIGN</b>		<b>8482200030</b>	<b>2.00</b>		<b>6,227.37</b>		<b>38.06 kg</b>	
<b>Total HS Code - TOTAL</b>		<b>8482200030</b>	<b>2.00</b>		<b>6,227.37</b>		<b>38.06 kg</b>	
C300987	2025000933	8483308090	6.00	76.19	457.16	0.363	2.18 kg	
1	302239	UNITED STATES	EA					
1	SLEEVE, BEARING							
<b>Total HS Code - DOMESTIC</b>		<b>8483308090</b>	<b>6.00</b>		<b>457.16</b>		<b>2.18 kg</b>	
<b>Total HS Code - FOREIGN</b>		<b>8483308090</b>						



**Stolle Machinery Company LLC**  
 6949 S. Potomac Street  
 Centennial CO 80112 USA  
 Phone: 303-708-9044

**Commercial Invoice**  
**For Customs Clearance**

**Invoice Number:** 514356  
**Date:** 2/4/2026

<b>Total HS Code - TOTAL</b>		<b>8483308090</b>	<b>6.00</b>		<b>457.16</b>		<b>2.18 kg</b>
C298840	2025000793	8483508030	1.00	476.47	476.47	0.680	0.68 kg
2	222020771	UNITED STATES	EA				
1	PULLEY, PRESPIN, 4.0 OD x 1.0 BELT						
<b>Total HS Code - DOMESTIC</b>		<b>8483508030</b>	<b>1.00</b>		<b>476.47</b>		<b>0.68 kg</b>
<b>Total HS Code - FOREIGN</b>		<b>8483508030</b>					
<b>Total HS Code - TOTAL</b>		<b>8483508030</b>	<b>1.00</b>		<b>476.47</b>		<b>0.68 kg</b>
C300459	2025000879	8484100000	3.00	70.71	212.14	0.270	0.81 kg
1	088071	UNITED STATES	EA				
1	SEAL, OIL - CRANKSHAFT						
<b>Total HS Code - DOMESTIC</b>		<b>8484100000</b>	<b>3.00</b>		<b>212.14</b>		<b>0.81 kg</b>
<b>Total HS Code - FOREIGN</b>		<b>8484100000</b>					
<b>Total HS Code - TOTAL</b>		<b>8484100000</b>	<b>3.00</b>		<b>212.14</b>		<b>0.81 kg</b>
C294935-2	2025000433	8501513040	2.00	10,323.90	20,647.80	67.585	135.17 kg
2	222325431	UNITED STATES	EA				
1	ASSY, OV PUMP MTR, IEC, O-PRO						
<b>Total HS Code - DOMESTIC</b>		<b>8501513040</b>	<b>2.00</b>		<b>20,647.80</b>		<b>135.17 kg</b>
<b>Total HS Code - FOREIGN</b>		<b>8501513040</b>					
<b>Total HS Code - TOTAL</b>		<b>8501513040</b>	<b>2.00</b>		<b>20,647.80</b>		<b>135.17 kg</b>
<b>Grand Total:</b>					<b>101,763.50</b>		<b>407.36 kg</b>

Package Type	Length	Width	Height	Dims UoM	Net Weight	Gross Weight	Weight UoM
CRATE	48.00	66.00	39.00	in	407.36	640.47	kg
Total					407.36	640.47	kg



**Stolle Machinery Company LLC**  
6949 S. Potomac Street  
Centennial CO 80112 USA  
Phone: 303-708-9044

**Commercial Invoice  
For Customs Clearance**

**Invoice Number:** 514356  
**Date:** 2/4/2026

*David Munroe*

**Signature**

These commodities, technology or software were exported from the United States in accordance with the Export Administration Regulations. Diversion contrary to U.S. law is prohibited.

\*\*\*PRODUCT IS SOLD IN USD AND PAID IN US CURRENCY\*\*\*

ACCEPTANCE. This order is subject to acceptance by Stolle Machinery Company, LC ("Seller"). Acceptance is conditional upon all terms and conditions stated on the face and reverse sides of this document. The Purchaser's assent to these terms and conditions shall be conclusively presumed: (a) if the Purchaser's retains this Acknowledgment without objection for ten (10) days after receipt, or (b) if the Purchaser accepts all or any part of the goods. The Seller expressly rejects any terms or conditions proposed by the Purchaser that differ from or add to those stated herein. Once accepted, this order may only be modified in writing, signed by the Seller.